Method (n = 100)

Worst case scenario
T Me=1.N=100
Strategy 1
no=1,N=100

Method (n = 100)
Worst case scenario
=1,N=100

Method (n =100)

Strategy 1 Strategy 1
= = I 100 = i 100
Strategy 2 Strategy 2 Strategy 2
B2 "no=5.N=20 B y=5.N=20 = T2

@ 3 8 10
Angular error (degrees)

(a) 10% Outliers (b) 40% Outliers (¢) 60% Outliers
$-0.36 0.39 0.40 0.42 0.44 0.43 0.44 0.45 0.45 0.46 . ... ....

2-0.36 0.40 0.43 0.42 0.45 0.44 0.45 0.45 0.46 0.46

3-0.38 0.41 0.43 0.44 0.46 0.47 0.45 0.48 0.48 0.47 8-0.20 .... ....

4 4
Angular error (degrees) Angular error (degrees)

Method (n = 100)
Worst case scenario
T np=1,N=100
Strategy 1
= =L N=1

@

00 S2-039 0.43 0.44 0.46 0.48 0.48 0.48 0.48 .- =g-0.18 0.23 022 024 0.23 oza.o.zs.o.u

Strategy 2 o @

5 no=5N=20 3 o
> 23'0.40 0.47 0.48 %3'0.11 0.20 0.21 0.20 0.22 0.20 0.23 0.22 0.22 0.21

z z

. K 3
g £2-0.14 017 0.17 0.19 0.21 0.20 0.21 0.19 0.21 0.20

a

3

2-0.13 0.17 0.17 0.17 0.16 0.18 0.18 0.18 0.18 0.18

Mean error (degrees)

©-0.17 0.17 0.17 0.17 0.18 0.17 0.16 0.16 0.18 0.18

©-0.16 0.17 0.16 0.16 0.16 0.17 0.16 0.15 0.17 0.16

03 04 05 06 40 50 60 70 80 90 0 20 30 4 o 80 90 100
Outlier rate Kappa within site (ku) Kappa within site (k)

o5
o
o

02

(d) Intersecting errors ()  Pouttier critical (f)  Pouttier critical



